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@; 13. Consider a square with side lengths x meéasured in centimeters. If the side lengths of the square
are increasing at a rate of 2 centimeters per second, then at what rate is the area, A, of the square
s
increasing when sides have length 10 centimeters?
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3. Suppose someone who is fishing is standing on the edge of a dock using a fishing pole to catch a
fish. If the tip of the fishing pole is 12 feet above the water and the line is being reeled in at a rate

of 2 feet per second, then at what rate is the angle # between the line and the water changing when
there are 20 feet of line out?
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